Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: Basic Mathematics Date: 31-12-2016
Subject Name: C300001

Time: 10:30 AM TO 12:00 PM Total Marks: 70
Instructions:

Attempt all questions.

Make suitable assumption wherever necessary,

Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible, (Scientific/Higher Version not allowed)

English version is authentic.

AT b

NO. Question Text and Option. U#l sl [dscul.

1. log, x+log, y=
A. X+ Yy B. loga Xy
C. log,(x+y) D. xy
q. log, x+log, y=_____
A. X+ Yy B. loga Xy
C. log,(x+y) D. xy
2. log,, 22 =
A1 B. 0
C. 11 D. 22
2. logp22=__
A1 B. 0
C. 11 D. 22
3.

bl aea—

For A= , A+ A=

1 1

A. 2 1 B. 0 4
12 2 2

C. 0 4 D. 0 4
1 2 2 1

3. A[O 2]Lué AvA=___
1 1
A 21 B. 0 4
Ll 2]
C. [o 4 D. To 4
L] i
4. if A is non singular matrix then ____
A A=A B. |A=0
C. |A| #0 D A=-4A
¥.  gladHe Als sl Al .
A, A=A B. |Al=0
C. |4=o0 D.  A=-A
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10.

0.

Period of the function sin 2xis

—cosf
—sin@

—cosf
—sin @

o O

O

x=land y=1

A 4z B.
C. = D.
sin 2x o] el Mlel Ul .
A, 4x B,
C. = D.
cos(r+60) =
A cosf B.
C. sing D.
cos(r+0) =
A. cosf B.
C. sing D.
log,16=
A1 B.
C. log,, 16 D.
log,16=
A1 B.
C. log, 16 D.
-1 0
For A|: },ATz_.
31
Al -1 0 B.
3 1
C. 1 0 D.
-3 1
-1 0 .
ol A- . elat dl A=
A. -1 0 B.
3 1
C. I 0 D.
-3 1
x 2 0 2
If[ ]|: ]then x=___and y=____.
1ol |t oyt
A x=0 and y=1 B.
C. x=0and y=0 D.

x=land y=0

) [ 2H° 2 ]rn i= WA y=___.

1) |1 y+i
A x-0 %{ay=1

C. x-0ua y=0
sin(%)ﬂ:os(%):____‘
A. 1

!

C. 0

sin(%)%—cos(%):__d-

B.
D.

x=1 Wa y=1
x=1 3 y=0
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11.

9.

12.

.

13.

13.

14.

Y.

15.

.

16.

A.%

C. 0

log x>—log x=____
A log x

C. 5

log x’—log x=____.
A, log x

C. 5

1 3
For A|: ] , adj A=
-2 2
A. 1 -3
2 2

™ A{l 3] Ao A adj A=
A 1

C. 2 3
-2 1
270 = radian.
A. 3
7
C.
Fia
270° = ENECE
A 3x
7
C.
w
2% radian = degree.
A g0
C e
2z =
/§§ﬂad Sall.
A g0
C. 120¢
Formula for area of circle is A=
A. s
Tr
C. 27r?
ddie] dotsm Alual Hide] YA A=____ 8.
A.
Tr
C. 27t
1 —
log, 3
A log,3

D.

B.

30°
60°

30°
60°

2xrh

r

2rrh

77.7'3

log, 7
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16.

17.

9.

18.

1c.

19.

1¢.

20.

R0.

21.

1.

22

C. log,21 D.  log, 3
1 —_—
log, 3 '
A log,3 B.  log,7
C.  log,21 D.  logy3
1 3 -1
Order of the matrix A= [ ] is Ll
2 4 2

A, 3x3 B. 3x2
C. 2x2 D. 2x3

1 3 -1
A:{ ] sadlaclsH 8.

2 4 2
A 3x3 B. 3x2
C. 2x2 D. 2x3
If for matrix A, A=—A" then A is matrix.
A.  Diagonal B.  Symmetric
C.  Skew-symmetric D.  None of these
ol AEBls AHIE A=-A" 8l Al A ARs B.
A [Qsel B.  dld
C. QA Mo} A5 U o3

a b L.
If A= [ d] then adj(adj A)=___.
c
A A B. 0
C. 1 D. -A
b
%8l A:[“ d} Al A adjtadi A)=___.
o
A A B. 0
C. 1 D. -A
sin Min(%)_tin(%)jin(%) = .
A. ,/7 B.
42 !

C. 0 D.

snsin(7)sn(74) s 7)

* ‘%/5

C. 0
cos’ @ —sin” @ =
A. 0
C. 1
cos’ @—sin” B =
A 0
C. 1

B.

D.

cos 20
sin 26

cos 20
sin 20

Area of a square with length 5 cm is sq. Cm.

A 10

B.

15



.

23.

3.

24.

Y.

25.

U,

26.

RS.

27.

I,

Cc. 25 D. 5
5 Al dous cuou ARUe] Axsn Al Al aua

A 10 B. 15
C. 25 D. 5
log.(log, 8) = ..
A 8 B. 2
C. 6 D. 1
log,(log,8) = .
A 8 B. 2
C. 6 D. 1
if A,,, and B,,, aretwo matrices then
A AR is possible. B. AB is not possible
C. A+B iS pOSSible D. A-B iS pOSSible
% 4,,, W B,,, & dl .
A AB A5 . B. AR as o8l
C.  A+B s ®. D. ABasd
2 1] 0 3
if A= and B = then AB=____
0 0] 0 1
A, o 0] B. 0 7
0 0] 2 0
C. TJo 0] D. 0 7
7 0] 00
21 3
‘ﬁA[O 0} ol B[ ]&u&zw:
A. 0 0 B. 0 7
0 0 2 0
C. [o o D. 0 7
7 0 00
7 1
A ] A 4=
6 2
A 5 B. 8
C 0 D
-2
1
8] A:[ 2] A A A=
A. 5 B. 8
C. 0 D.
-2
1 2
IfA:[ ] and |A|=12 then x= )
x 12
A 2 B. -2
C 0 D. 1
1 2
oaA:[ 12] Aaud |4=12 Al A x=__.
X
A 2 B. -2
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28.

RC.

29.

RC.

30.

30.

31.

34.

32.

3.

33.

33.

C. 0 D. 1
sin{fa + ) =
sinccos f+cosasin f B inacos p—cosasin
C. sinasin f#—cosacos 3 cosacos f—sinasin 3
sin{fex + ) = .
A. . . B. . .
sinacos fF+cosasin 3 sincos f—cosasin
= sinasin f#—cosacos 3 D cosacos S —sinasin f
’l—cos 20
1+cos20
A .
sin & B tan &
cotd cos ¢
fl—cos 20
1+cos20
A sin & B. tan &
coté cos &
sin36 = .
. .3 B. , »
3sinf —sin” ¢ 3sinf—4sin” &
D.
sinf—4sin’ 8 3sin30—4sin’ 8
sin36 = .
, » B. . 3
3sinf —sin’ £ 3sinf#—4sin” &
sinf—4sin*0 3sin30—4sin’ 6
) 1( n']
sin | cos— |= .
3
A ki
7 %
c. D.
| T
sin” | cos— |=
=)
A = B. V4
%% %
C. i 4 D. 27
For u=(1,2,—and v=(2,—-1,2) , u+2v= .
A (211 B. (3,11
C. .03 D. (43,0
Al u=(12-DuHA v=(2,-12) &2l ol u+2v= :
A (21-1) B. (3,1,1)
C. (5,03 D. (4,3,0)
If we double the radius of the sphere then its volume would be times than
original volume.
A 2 B. 4
C. 8 D. 16

As olleltsell Aeaul oHell seuMl 1A dl def Yoisa _ 20 el

A 2

B.
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34.

3¥%.

35.

3.

36.

36.

37.

39.

38.

3¢C.

39.

3c.

C. B8

graph is not passing through the origin
B.

D.

sin x

sin 2x

ollActtiiell (AR oll 2uAu Gowlelg
B.

D.

sin x
C. sin 2x
tan(ex+ f3) = .
A.  tana+tanf
l-tanatan f
C. tan o +tan
1+tan e tan f
tan(ex+ ) =___

A. tan ¢ +tan 8

I-tana tan
C. tana +tan

1+tan er tan 8
sin” x= ,xe[-1,1]

cos” x

—sin "' x
sin'x=_____ xe[-L1]
A. .

Cos X

—sin ' x

tan” x+cot” x=
A0

C. %

tan” x+cot” x=
A 0

C.%

For vectors # and v, vector

D

16

COS X
tan x
Hidl v adl «ell.
COS X

tan x

tan ¢ —tan 3
I-tanetan S
tan o +tan f
tan o tan 3

tan ¢ —tan 8
l-tanc tan 8
tan o +tan f
tan ¢ tan S

—cos”' x

sin ' 2x

-1
—COs X

sin ' 2x

A — B. - -
v HXV

C. - D. - -
u K+ v

ofl ulZal 7 wal v AR 7 A 7 oA A clol .

A. — B. -
v HXV

C. - D. - -
u K+ v

If u=2i+ j+2kthen |u|=

A 2 B. 3

C. 9 D. 10

A 1=2i+ j+2k 8 cll |y =
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40.

¥0.

41.

¥a.

42

¥R.

43.

¥3.

44.

¥Y¥.

45.

A 2

cC. 9
x* X

log | —|—log | — |= .
y y

A. x B. 5
log | — log —

y y

C. logx D. 0

2z
y y
A, x B. x2
log | — log | —
y y

ow
S

C. logx D. 0
If for amatrix A and 8, AB=BA=1T then B=
A At B. AT
C. gt D. A
%l Qs A ML B W AB=BA=7 &8l dl B= .
A 7! B. A7
C. pt! D. A
5 1

5 2|

A -5 B.

C. 5 D. 1
51

5 2

A -5 B. 0
C. 5 D. 1

2
if A:[J and B=[2 3] then AB=___.

Sl S
C. [4 6] D. 7]

QAE] U B-[2 3] Al AB=___

N C L

© 4 ¢ y

In square matrix no of rows no of columns.

A. 3 B. >

C. < D. None of these
URYU ARLs HL slrell Aval detoll vl 8la B.
A. 3 B. >

C. < D.

if vectors ¥ and v are parallel vectors then

A axv]=2 B.  |axv|=1

WHio] A5 yel «1(3.
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¥\,

46.

¥S.

47.

¥9.

48.

¥C.

49.

¥e.

50.

Yo.

51.

uq.

C. |gx17=0 D. wv=0

ofl (82l 7 A ¥ URUR UMLAR (parallel) 8ot cll

A axv|=2 B |uxv|=1
C. axv]l=0 D w-v=0

2sin AsinB=_____

cos(A—B)+cos(A+B) B. cos(A—B)—cos(A+B)
C. cos(A+B)—cos(A—B) D. —cos(A—B)—cos(A+ B)
2sinAsinB=_____
A cos(A—B)+cos(A+B) B. cos(A—B)—cos(A+ B)
C. cos(A+B)—cos(A—B) D os(A-B)—cos(A+B)
_____is not a unit vector.
A (13) B. (L0)
C. (0,1 D. (-1,0)
AsH AR aael.

A (13) B. (L,0)
C. (0,1) D. (-1,0)
Volume of cone is 9856 cube cm, radius is 14 cm then slant heightis ___ cm.
A, 20 B. 50
C. 10 D. 100
s g o dals ccus dot Al & el wans(l B 1y W & dl dsll
ARl Qs ARl
A, 20 B. 50
C. 10 D. 100
¥ u=(1,2,1) and v=(2,11) thenu-v-____.
A5 B. 0
C. 1 D 4
ol u=(1,2, D v=(2,1,H 8 Al u-v=___.
A 5 B. 0
C. 1 D 4

log,(2x)=___.
A x B. log x
C. l+log,x D.  2+log, x
log,(2x)=___ .
A, x B. logx
C. 1+4log,x D.  2+log, x

1 21

2 4 1=

2 4 1
A 2 B. 1
C. 3 D. 0

1 2 1

2 4 1=

2 4 1
A 2 B. 1
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52.

.

53.

u3.

54.

uy.

55.

uu.

56.

us.

57.

udI.

58.

C. 3 D. 0
3
if A=[1 3] and B= [Jthen AB=___.

e Sl
C. [4 6] D. [9]

A A-[1 3] BB]:H AB=___

"L C b

C. [4 6] D. [9]
H u=2i+4j—k and v=3i— j+3m are perpendicular than m=___,
A. 2 B. -2
C. 12 D. -12
ol T=2i+4j—k ¥ T=3i—j+3m dot uglell sl Al m=__.
A. 2 B. -2
C. 12 D. -12
i$ 4 unit vector.
A (1,0,1) B. (0,1,1)
C. LD D. (100
AsH Al B.
A (1,0,1) B. (0,1,1)
C. (1,1,1) D. (100
If 7 and Vv unit vectors and &7 -v = Othen |1I+?| = .
Al \/37 B. JE
C NG D. 0
ol i el vAsH uelal Bt wel 7 v =0dl [g+v]=__.
A 5 B. JE
C. 5 D. 0
Direction cosines of the vector (1,1,1) are )
A 1,11 B. Jg,\lg,ﬁ
C. \/T JT \/T D. None of these.
R ER'E
Al el (1,9,1) ol €lsslausSell 8.
A 1,1,1 B. Jg,ﬁ,ﬁ

C. \P \P \P Do auien As g @,
3'¥3°\3

For u=(1,2,1) and v =(2,1,1) then uxv = .

A (12,1 B. (1,1,3)
C. (12,1 D. (1,1,-3)
AR T=0,2,1) v T=(2,1,)HS uxv = .

A (12,1 B. (1,1.3)
C. (12,1 D. (1,1,-3)

X —v)=



uc.

59.

60.

50.

61.

59.

62.

5.

63.

53.

64.

5%.

65.

A B. Vv
C. 0 D. None of these
Ex-V)=___
A, u B. v
C. 0 D. i As ual 3.
Volume of the cylinder with 5 cm radius and 12 cm height is cube cm.
A, 60x B. 3007
C. 720« D. 720«
5 A4l Bzl wal 12 A Gl olousie] dotsm ot Al aulal
A, 60x B. 3007
C. 720« D. 720«
i a” =c then
A, log,c=b B. log,b=c
C. log,c=a D.  logya=c
ol a” =c H2 cll alsta .
A log,c=b B. log,b=c¢
C. log,c=a D. logya=c
5
if =5 then x= .
3
A 1 B. 5§
C. 4 D. 0
5
T Oles Qadixe_
3 4
A 1 B. 5§
C. 4 D. 0
A matrix which contains only one row is called matrix.
A.  Column B. Row
C.  Square D. None of these
A5 el HISL AUS 61R HRleldl AlLsa AlLs sdcual
A det B. &R
C du D. 2uuie] As ual «iél

For u=(1,0,0) and v=(0,0,1) then angle between i and vis .

A % B. %

C. D.
b4 2w
U€lal u=(1,0,0) Wl v=(0,0,1) cl2oll WQlloj HIY a2l
A. B.
7 Z
C. x D. o
Surface area of the cylinder with 2 cm radius and 5 cm height is sq. cm.
A 20r B. 30x
C. 28« D. 720«
2 Al Bl wel w A Qs awal stoustell as audle] dasel _ Al
A,
A, 20« B. 30x
C. 28z D. 720x
Volume of the sphere with 3 cm is cm. cube.
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SU.

66.

56.

67.

5J9.

68.

5C.

69.

5¢c.

70.

90.

A, 30z B. 36x

C. 28x¢ D. T

3 Al Blxa cwal dlclise) dotso tol A a2l

A 30z B. 367

C. 28x¢ D. T

Area of a triangle with length of sides Scm, 8 cmand 11 cm is i
A 2 sq. cm B. 221 sq. cm

C. af1 sq. cm D. 421 sq.cm
Blslewsll ool Juu v A, ¢ A wal a9 Al B, dl dof Adsd __ w
A proaasdl B. 221 WAl

C. 47 aad D. 421 Q.adl
Volume of a cube with length of side 4 cm is cube cm.

A 16 B. 8

C. 64 D. 4

s AHUol Boll A5 oLyl dottsS 4 AL B, dof totsn _ uot Aa{l Al
A 16 B. 8

C. o4 D 4

Area of a circle is 154 sq. Cm then radius of the circle is ___cm.

A 4 B. 6

C. 5 D. 7

As dda of Aose auy Ul A slat dl doll Ava _ Al e,
A 4 B. 6

C. 5 D. 7

—2

21—

A, uxu B. u-u

C. |ala D. @+i

i =

A Ixi B. it

C |,j| i D, u+n

log. 1=

A 6 B. 1

C. 0 D. 16

log, 1=

A 6 B. 1

C. 0 D. 16

sk ok ok ok ok okl ok sk skokosk ok
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